DNOWN\2 hwe

TH PITD R P15
Topd TiwRnTNN) DD NZWRRY 2130 TREIN D720 NRT WY o0-Y Y
0739127 IR) 77178 NRRRT
1y,
D°27% 307 TWOR R TR MT0RY 9Y 13270 YR RT3 0 0771730 NORRT
IR N2 WRHIYY
nnmn
TN NP WRRYY DI WD WK X
Translation:
It is not possible for two kings to share one crown.
Explanation:
According to the Midrash, Hashem created the moon as a necessary balance to
the sun so that people would not see the sun as a solitary power and decide to
give it divine status. The moon, however, looked at itself as an equal to the sun,
as two kings, leading it to wonder how the two could share a single crown.
Hashem, after failing to convince the moon to reduce itself, forced the moon to
do so and adopt its secondary role. It is possible that Hashem did this by taking
away the light of the moon and reduced it to reflecting the light of the sun. This
caused the moon to appear to shrink at times and to even disappear at the end of
the month. Interestingly, Hashem asks the Jewish people to bring a 1277 on His
behalf every wnn wx1 as an atonement for the hurt felt by the moon®.
Looking in the Pasuk:
The Pasuk seemingly contradicts itself, as the beginning of the Pasuk tells that
there were two large luminaries?, while the end of the Pasuk speaks of one large
luminary and one that was small. In addition, the word 1w infers the two
originally were equal. The Midrash answers that a change took place in which

one of the large luminaries was made small.

1 See Notes 1
2 See Notes 2



NOTES

1. Rashi’s commentary is based on the X nx in (:0) P21 noon which teaches:
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The above argument that takes place between Hashem and the moon is very difficult to understand.
It seems that the moon is indeed pointing to a design flaw which led to two celestial bodies being
created with the very same purpose, leading the moon to ask, “How can two kings use the same
crown?” Hashem tells the moon to reduce itself, which leads the moon to wonder why it is being
punished for pointing out a flaw in creation.® Hashem does not directly answer the moon but
instead tries to somehow placate it by offering compensation. But, the question remains: Why did
Hashem create an untenable situation?

It is interesting to note that Hashem tells the moon Tn¥y nX vy » while the words n¥y nX *1vpPn
seem more appropriate. What did Hashem mean when he said 7ngy nx "oy n?

The (y 7wno) 727 waa tells us that in truth Hashem only needed to create the sun. However He
realized that if He was to create only one light in the heavens then the nations of the world would
certainly make it into an 771 772y, He therefore created the moon to act as a competitor to the sun
so that it would weaken the perception of the sun being a singular power and thus minimize sun
worship:
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The moon, however, did not understand that its role was to serve but instead saw itself as a king*;
2291 *aw. To this Hashem answers that the moon should realize that it has a lesser importance; °3%
vy 7. Hashem basically is telling the moon that the purpose of all creation is to serve Hashem, not
to act as a king. And, this was certainly true of the moon which was specifically created to
minimize idolatry and not to supply light. To highlight its secondary role, Hashem took away the
moon’s light, reducing the role of the moon to simply reflecting the light of the sun. (In addition, by
doing so Hashem caused the moon to appear to shrink and even disappear every month, a true

m12%77 vwn). Thus, the term nh 9nxy nx *vy perfectly reflects the answer Hashem gave the moon.®

3 Hashem’s attempt to placate the moon also needs explanation as does Hashem’s need for
atonement for reducing the moon. There are those who understand the entire X7»3 as a metaphor to
o8 993 (represented by the moon), arguing for equal footing with the nations of the world
(represented by the sun). See the &"wann on the & na.

4 Even the term used by the Midrash (see footnote 5), and quoted by Rashi, m12%7 7aqvpw, that the
moon accused G-d, points to an arrogant attitude on the part of the moon.

® It is still difficult to understand why Hashem seeks to placate the moon and when He fails to do
so, and is compelled to forcefully reduce the moon, He requires atonement. The answer is that
obviously Hashem does not have to answer to anyone, certainly not to inanimate objects. As always
the Midrash is teaching us a lesson in m2w m7n. The story of the xanx illustrates to us an episode
in which the moon misunderstands its role and is wounded by a perceived injustice. Even though no
real injustice took place, Hashem still goes out of His way to placate the injured party. When this



(I'would like to add here a beautiful and extremely powerful idea that | heard. There is an
interesting difference between a 72103 and a va. In the 72105 we write the month as w7 and in a va
we use the term r7°. The commentators explain that by a 72105 we look at this new marriage by
referring to the Pasuk (:7:75 0°727) nw7n awK vk nip° °> while by pwia°a we reference the Pasuk w=a
(7:3% aw) o°n. Therefore, at a marriage we use the term w1n and at a divorce we write i,
However, there is a deeper meaning. | would like to propose that the name 17> was the name of the
moon before it was reduced and the name w7n refers to the moon after it was reduced (for only after
it was reduced, and lost its own light, did it disappear and renew — w7n - itself each month). When
the moon looked at itself as a king it was called 7, but after it realized it was there to serve others
it was known as wmn. This is the message we send to the couple. If their relationship is one of r=
when each feels they are the king, and are there to rule and be served, then such a relationship will
end in divorce. But if they relate as the wmn, each there to help the other, each reducing itself for
the other, such a relationship will succeed.)

2. There are Midrashim® which learn from the fact that the Torah writes mx» *1w that the two
were equal. This is based on several instances in which the &anx understands the word 1w to be
teaching us that the two are equal. For example, since the Torah writes that on 119> o1 we are to
take oyw 1w the (:20 X1) Xax learns that the two o>°yw must be identical. Therefore, here too
we can understand from the fact that the Torah told us mmx» 1w that the two lights were identical.

This observation would answer a point raised by the &1y j2% , who claims that there is actually no
contradiction at all' He claims that when the beginning of the Pasuk called them both o°%17x that
was only in relation to the stars, but not in relation to each other, which would allow one to be
larger than the other as written at the end of the Pasuk. However, the word *1w , which infers they
were equal, does prove the contradiction.

Other Midrashim do not mention the word *1w and are only bothered by the fact that at first the
Torah calls them both o°9173 and later calls one a jvp>. Rashi here, who does not add the word »1w
into his > 1127, understood thus as well. (Rashi in 7in clearly writes that the contradiction is
only because of the word o°9173 and vp.)

Questions for Further Thought:
a. We know that the Jewish calendar is based on the cycles of the moon and not the sun. Does
the role of the moon as explained above help you understand why this might be so?
b. Can you think of other examples in which there seems to be a change from the original
creation? And, if G-d knows they will be changed why does He create them in the original
fashion?

proves impossible, Hashem feels the need for atonement. This provides a powerful lesson to

anyone who may hurt another even though the damage was either unintended or even the result of a

misconception on the part of the injured party. It is still incumbent on the damaging party to seek

reconciliation and even seek atonement for his actions.
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